Quiz12 8% [HE 4 - 2] HRVE 82—

KIBR A TD AgCl DB ()2 B Z 5.

AgCl == Ag"+ CI" ; Ksp (1)

Ksp = [Ag'][CI'] = 107°° M? (I = 0) (2)
FAHFTD AgCl DIFMLEE s 1ZHB)THA 6N 5,

s=[Ag']=[CI] (3)
EIRIEROERAQIC I NERATZ 2L TsEoN 2,

s= 4[Ksp = 10°°M (4)
(i) 1 M KNO,

K'EXLO NO, ZN 2Lt CIrB X Ag L 5T L 22\, fiE>T 1 M KNO, DF
BRNRIIA A VIBEOMK I=1M) THb, REPMER Ksp & B 11058 5
Ksp® & DEIfR X

Ko
Ksp=[Ag'l[CI']=—P (5)

yAg+yCl_
THZoN%, A4 VEESERTIUL AgE X U CIrOTEERE y 1322 jid
T25006, Ksp l3HART 2. R SIEMEE s IR T 2 (GLEAAESIR).

(ii) 0.001 M HCl

AgCl 1X Ksp VNS K BRAMEIE CH 2 DT, FTHEA A ¥ CroREIE AT
X AGRENBAT B EELZ NS, XD 5

[Ag*] = Ksp/[ClT] = 107°° M2/ 0.001 M = 107 M (6)

L7235 7T 0.001 M D CLOFAEIC X ) AgCl DIAFRIE s 1390V 5 GL@A 4 v %)
3.

%8, HALIREEIR[AGCLIY (x =2 ~ ) DAERRIC & 2 IBEMRE OB KM IX[CI] > 0.01
M CTHEE ICHIN 523, SR DHUKFTOBME 10°° M (H)%Z B2 12 ERT 5 C
ElxZewv (1 H 17 HEEANERIOSEEERE - 777 721).

(iii) 1 M NH,
AgHld NH, & 7~ 3 VEMA[Ag(NHL)TY, [Ag(NH,),I'Z2EKT 5 DT AgORE (5
) IXMETT 5,
Ag'+xNH, == [Ag(NH,).]" (x=1,2) (7)
it T AgCl DIAFRFEI()IZAICBEI L, AgCl DIFMREEIZMAT 5 GEEIR).



